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d yt��BIZ{�$Bt

*Z�$t� �Y� ABB8R �Ys� }��{�I� {�$R�R $t �8���$t� �{BtB8$�R� }Bj${k8s,��R R��Z��j� �B

j$8$� {s}$�sj 4BbR stI �Y�$� �-}stR$Bts�k {BtR�JZ�t{�R� yt }s��${Zjs�� �Y�k s���8}� �B

R���$j$9� {s}$�sj $t4BbR �Y�BZ�Y st B}�t 8s�,�� Rsj� BP IB8�R�${ ABtIR B� $t{��sR�I ��R��%�

��JZ$��8�t�R� qY�R� R���$j$9�I $t���%�t�$BtR wY�t{�PB��Y� R���$j$9s�$BtRD {st A� �-���8�jk

js���� *Z�$t� �Y� �s�jk d��(R $t ]Y$j�� PB� �-s8}j�� �Y� �-{Yst�� $t���%�t�$Bt 8�st� �Ys�

B%�� �Y��� JZs����R BP $�R js��� {s}$�sj $t4Bb v s8BZt�$t� �B s�BZtI R�%�t }��{�t� BP $�R

p*_ }�� k�s� v b�t� �B $t���ts�$Btsj ��R��%�R s{{Z8Zjs�$Bt s� �Y� {�t��sj Ast,� qY�

R���$j$9s�$Bt BP �Y$R $t���%�t�$Bt $t{��sR�I �Y� �s�$B BP $t���ts�$Btsj ��R��%�R �B 8Bt��s�k

AsR� P�B8 n�x s�BZtI d��( �B B%�� E�( Ak d��n� qY$R }s����t bsR ��}�s��I $t 8stk �8���$t�

�{BtB8$�R IZ�$t� �Y� �s�jk d��(:R� bY�t {s}$�sj 4BbR �B �Y� I�%�jB}$t� bB�jI RZ���I�d

*�R}$�� �Y� Ps{� �Ys� R���$j$9s�$Bt $R �Y� 8BR� {B88Bt }Bj${k ��R}BtR� �B {s}$�sj $tT

4BbR� �Y��� $R b$I�R}��sI ��{B�t$�$Bt �Ys� $� $R tB� P��� BP {B8}j${s�$BtR� qY� {Bt{��tR

�st�� P�B8 $�R $t�&�{�$%�t�RR �B st BZ��$�Y� As{,h�$t�� bY��� �Y� }Bj${k 8sk s{�Zsjjk PZ�j

{s}$�sj $t4BbR� �R}�{$sjjk RYB�� ���8 Bt�R� stI j�sI �B st �-}stR$Bt �s�Y�� �Yst �Y� I�R$��I

{Bt��s{�$Bt $t s�����s�� I�8stI�

qY� b$I�R}��sI stI t�s�jk sZ�B8s�${ �-}jsts�$Bt PB� �Y�R� BZ�{B8�R PBjjBbR �Y� �ZtI�jjT

3j�8$t� w�3D jB�${� b$�Y ��P���t{� �B s R{�ts�$B bY��� �Y� sZ�YB�$�k YsR RB8� �-{Yst��

�s�� �s���� stI �Y��� $R �-��tR$%� {s}$�sj 8BA$j$�k� !Z� R�s��$t� }B$t� $t �Y$R }s}�� $R �B

}B$t� BZ� �Ys� �Y$R �-}jsts�$Bt $R 4sb�I� stI �Ys� st sj���ts�$%� P�s8�bB�, $R t��I�I �B

ZtI��R�stI $t�&�{�$%�t�RR stI $�R �-���8� PB�8� As{,h�$t��

yt �Y� ��-�ABB, �ZtI�jjT3j�8$t� w�3D P�s8�bB�, w�ZtI�jj d�E1D� �Y� �&�{�$%�t�RR BP

R���$j$9s�$Bt I�}�tIR Bt �-{Yst�� �s�� RkR��8R stI �Y� I����� BP $t����s�$Bt �B $t���ts�$Btsj

htst{$sj 8s�,��R� b$�Y �Y� bB�R� {sR� PB� R���$j$9s�$Bt A�$t� �Ys� $t bY${Y �Y� �-{Yst��

�s�� $R h-�I stI �Y� {BZt��k YsR PZjj s{{�RR �B $t���ts�$Btsj htst{$sj 8s�,��R� yt �Y$R {sR��

�Y� R���$j$9s�$Bt $R PZjjk ZtIBt� Ak �Y� }�$%s�� R�{�B� sR {s}$�sj $t4BbR �-s{�jk B&R�� �Y�

R���$j$9s�$Bt stI �Y� $t����R� �s�� ��8s$tR Zt{Yst��I� =t{B%���I $t����R� }s�$�k YBjIR stI

�Y� IB8�R�${ $t����R� �s�� $R I����8$t�I Ak �Y� $t���ts�$Btsj $t����R� �s��� RB �Ys� h�8R:

{BR� BP {s}$�sj $R Zt{Yst��I Ak �Y� {�t��sj Ast,:R s{�$Bt�

GY$j� �Y� �3 jB�${ {st }B��t�$sjjk �-}js$t bYk }Bj${k 8sk A� $t�&�{�$%�� $�R 8�{YsT

d]sj%B �� sj� wd��nD }� d;E b�$��U X7���$j$9�I $t���%�t�$Bt YsR A��t �Y� 8BR� }B}Zjs� ��R}BtR� �B �Y�

}��R�t� �}$RBI� BP {s}$�sj $t4BbR $t Ns�$t V8��${s�" VtI RB IB�R �Y� GB�jI  st, wd���D� }� dMdU X7���$jT

$9s�$Bt bsR �Y� 8BR� b$I�jk stI $t��tR$%�jk ZR�I }Bj${k ��R}BtR� �B �Y� s��$%sj BP {s}$�sj $t4BbR s8Bt� �Y�

{BZt��$�R $t BZ� Rs8}j��" qY� Rs8}j� $t{jZI�I 11 �8���$t� �{BtB8$�R�

d



t$R8 $R tB� {BtR$R��t� b$�Y �Y� }��%s$j$t� Ps{�R $t �8���$t� �{BtB8$�R� yt �3� }Bj${k $R

$t�&�{�$%� A�{sZR� �Y� {�t��sj Ast, $R ZtsAj� �B �$�Y��t 8Bt��s�k {BtI$�$BtR stI Y�t{� �B

�s$R� IB8�R�${ }�RB �s��R�  Z� Bt� BP �Y� �R�sAj$RY�I Ps{�R $R �Ys� $t }�s{�${� R���$j$9s�$Bt

IB�R �s$R� IB8�R�${ }�RB �s��R� ytI��I �Y� }�BAj�8 j$�R $t �Y� t�-� vstI sj$�t �B �Y�

�3 P�s8�bB�,v j$t,� �Ys� $R $t �Y� js{, BP {Btt�{�$Bt A��b��t �$R�R $t �Y$R �s�� stI �Y�

��R}BtR� BP sRR�� }�${�R stI ��sj $t%�R�8�t��1

e%�t 8B�� }Z99j$t� $t �Y� {Bt��-� BP �Y� ��sI$�$Btsj 8BI�j $R �Y� ��js��I {Bt{��t BP

XAs{,h�$t��" 7$t{� �Y� �$R� $t IB8�R�${ $t����R� �s��R ��$�����I Ak R���$j$9s�$Bt $R s{{B8}sT

t$�I Ak st $t{��sR� $t {s}$�sj $t4BbR� �R}�{$sjjk RYB�� ���8 Bt�R� }Bj${k8s,��R bs�t �Ys� sR

$� $R �Y�R� 4BbR �Ys� PZ�j bYs� $R }��{�$%�I sR st �-{�RR$%� �-}stR$Bt $t s�����s�� I�8stI

stI �-{Yst�� �s�� B%��%sjZs�$Bt� R���$j$9s�$Bt 8sk A� {BZt���}�BIZ{�$%� w���� ]sj%B �� sj�

d��n� G$jj$s8RBt d��x� ]B�AB stI <��tstI�9 d��E� �sRRsI d���D�n V�s$t� �Y$R As{,h�$t�

��RZj� IB�R tB� PBjjBb P�B8 �Y� R�stIs�I �3 jB�${� bY��� s� bB�R� �Y� }Bj${k $R $t�&�{�$%�

$P $� {sttB� s&�{� 8Bt��s�k s�����s��R�

yt �Y$R }s}�� b� s��Z� �Ys� �Y� R�stIs�I stsjkR$R B8$�R �bB sR}�{�R BP �8���$t� 8s�,��R

bY${Y s�� {�t��sj �B ZtI��R�stI$t� �Y�R� ZtZRZsj BZ�{B8�R� 3$�R�� $t �{BtB8$�R bY���

�-���tsj {�$R�R s�� s ��{Z���t� }BRR$A$j$�k� IBjjs�R s�� �Y� R{s�{� $t}Z� $t�B }�BIZ{�$Bt stI

sR RZ{Y �Y� JZ�R�$Bt �B sR, $R bY��Y�� }Bj${k s&�{�R �Y� �-}�{��I IBjjs� {BR� BP {s}$�sj PB�

h�8R� qYZR� b� s��Z� �Ys� s PZjj stsjkR$R BP R���$j$9s�$Bt 8ZR� jBB, s� �Y� �&�{�$%� IBjjs�

{BR� BP {s}$�sj� tB� `ZR� s� �Y� {Z���t� }�RB $t����R� �s��� 7�{BtI� $t �{BtB8$�R bY���

htst{$sj 8s�,��R s�� ZtI��I�%�jB}�I� �Y� BZ�{B8�R BP }Bj${$�R �Ys� ��jk Y�s%$jk Bt �Y�R�

8s�,��R {st A� JZ$�� I$&���t� P�B8 �Y�$� I�%�jB}�I �{BtB8k {BZt���}s��R� G� RYBb �Ys�

$P �Y� $tR��Z8�t�R ZR�I $t �Y� $t���%�t�$Bt s�� $jj$JZ$I� �Y� IB8�R�${ IBjjs� {BR� BP {s}$�sj�

bY${Y {BtR$I��R �Y� bYBj� }s�Y BP �-}�{��I PZ�Z�� �s��R� 8sk A� jBb���I �s�Y�� �Yst �s$R�I

Ak �Y� R���$j$9s�$Bt� �BR� $8}B��st�jk� �Y$R IBjjs� {BR� BP {s}$�sj ��IZ{�$Bt IB�R tB� ��4�{� s

��Z� $t{��sR� $t �Y� {BZt��k:R $t���ts�$Btsj j$JZ$I$�k IZ�$t� �Y� �-���tsj {�$R$R stI ��%��Rsj�

sR bBZjI A� �Y� {sR� b$�Y s RZ{{�RRPZj R���$j$9s�$Bt� AZ� `ZR� s I�{j$t� $t IB8�R�${ }�$%s��

13B� RZ88s�$�R BP �Y� �%$I�t{� R��� ����� V��tB� w1(((D }�11n stI �Bt�$�j wd��ED }�1d1�
nyt Y$R R�s��8�t� Bt A�YsjP BP �Y� Ns�$t V8��${st pB%��tB�R BP �Y� 3ZtI s� �Y� `B$t� GB�jI  st, T y�3

sttZsj 8���$t� BP �Y�  Bs�I BP pB%��tB�R Y�jI $t <Bt� �Bt� wd���D� �sRRsI b�$��RU XqY� Y$�Y �s�� BP

���Z�t Bt {s}$�sj $t s ABB8$t� �{BtB8k s���s{�R js��� $t4BbR BP �-���tsj ��RBZ�{�R��� ]s}$�sj 4BbR R�$8Zjs��

IB8�R�${ I�8stI stI {BZjI }ZRY Z} IB8�R�${ $t����R� �s��R $P �Y� 8Bt��s�k sZ�YB�$�k RsP��Zs�IR IB8�R�${

�JZ$j$A�$Z8� qY$R� $t �Z�t� {BZjI }�B%$I� s PZ��Y�� $t{�t�$%� PB� {s}$�sj $t4BbR� qY� }�BAsAj� BZ�{B8� b$jj

A� {Bt�$tZ�I s}}��{$s�$Bt BP �Y� jB{sj {Z���t{k� �Y� ��RZj�$t� �$R, BP b$I�t$t� �Y� {Z���t� s{{BZt� I�h{$��

stI �Y� ���s��� Ist��� �Ys� �Y�R� {s}$�sj 4BbR b$jj A� ��%��R�I� RYBZjI RB8� t��s�$%� �-���tsj RYB{, B{{Z��"

w}s�� ;� BZ� �8}YsR$RD�

1



j$JZ$I$�k� qY� $8}s{� BP �Y� js���� Bt ��js�$%� sRR�� }�${�R {��s��R s RB�� BP X$t���ts�$Btsj

j$JZ$I$�k $jjZR$Bt" bY${Y PBR���R �s�Y�� �Yst I�}��RR�R �-���tsj $tI�A��It�RR stI $t%�R�8�t�

$t tBtT��sI�sAj�R�

qY��� s�� �Y��� {�t��sj $t���I$�t�R A�Y$tI BZ� stsjkR$R stI ��RZj�RU sD s R$�t$h{st�

}�BAsA$j$�k BP st �-���tsj {�$R$R $t �Y� t�s� PZ�Z��� AD $jj$JZ$I B� ZtI��I�%�jB}�I IB8�R�${

htst{$sj 8s�,��R� stI {D �Y� R���$j$9s�$Bt ��8B%�R IB8�R�${ j$JZ$I$�k �B }B��t�$sjjk I$RT

���RR�I h�8R� sR $R �Y� {sR� bY�t �Y� $tR��Z8�t�R ZR�I $t �Y� R���$j$9s�$Bt s�� tB� PZjjk

j$JZ$I�

qY� h�R� $t���I$�t� $8}j$�R �Ys� �Y��� s�� �$8�R bY�t �Y� Zt{B%���I $t����R� }s�$�k

{BtI$�$Bt IB�R tB� YBjI� bY$j� �Y� R�{BtI Bt� RskR �Ys� IZ�$t� �Y�R� �$8�R I$R���RR�I h�8R

8sk A� ZtsAj� �B PZjjk }j�I�� �Y� %sjZ� BP �Y�$� }�B`�{�R �B }B��t�$sj htst{$��R w�YBR�

b$�Y RB8� s{{�RR �B $t���ts�$Btsj 8s�,��RD� yt �Y$R {Bt��-�� �Y� �-}�{��I ���Z�t Bt IBT
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Figure 1: Liquidity Based Cost of Capital Determination
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